«
0

HioIC) =0l AEsLalil 010l




A= (g) 212 10cmuel 2071 =2
H{E{ 300, 25t 200, &2 3, Algt 27y, Hidete 2, BiEE 500, OF==82) 60

o=

1 BlE{] BET 258 22 = T
2 Ooff AE 2o
3 @of Higet 22g ¥2

or2= 38 (g)
H{E{ 240, MEF 240, A2t 240, BFEE 120, O}=SEE 240

gle=g

ool =
H=7I= =8 () | BED) M2 S 3 Tl
22 37, A2t 300, 22 350, H{E{ 400 2 OO Az 1 =Sl
— 3 uzE ol2ERYS N A & @2 By
A e

S AP RGO RSB ESE G OB ORI A GBI DG BN O DA E IR C R E O YN C R PP RN S GG B O SR RO RRE N EP NI E IR I RGN N AN T IO ORGP C RO G ROEROLION B CRTEOIDOEARERT LN R OB S G U

1A AR T3 S 3mm FAE UoiE T S0l MUt
2 @9 ¢off ‘of2==E 2 MECh

3 @E 170~180°CHA] 20~252 7} FLILHCE

4 @2 9ol HSI=IR 8 MECL

5 @9 gofl 2= Sul0|AE 22 ¥ MEs % DRt

19984 3@& @




